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3) Results in descending net profit order 



 
4) 1 Parameter Graph 

 
According to the graph 2 bars delivers the highest net profit. This, however, does not fit with 

the results overview (s. 3)). According to the results overview, the highest net profit is 

delivered with 3 bars at USD 3.651.684,12 . Interesting enough, the net profit figure for 

column 2 amounting to USD 775.065,7 can also be found in the results overview, however, at 

much lower rank.  



 

It is also interesting that there are numerous combinations with 2 bars that generate 

significant higher profit than the one shown in the 1 parameter graph.This highest net profit 

amounts to USD 1.846.308,7. 

 


